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Question No. 1

ar TR TSIl A 3G FT A 35 Bl S Aol Ggel, ol Y T AT 2: 1 ATl SeTehl FereAleT
Iy 4 §7

A) 10, 25 B) 20, 15

C) 28, 7 D) 30, 5

The sum of the ages of two cousins is 35. Ten years ago, the ratio of their ages was 2 : 1. What

are their present ages?
A) 10, 25 B) 20,15
C) 28,7 D) 30,5
Answer Key : B Your Response : B (Correct)

Question No. 2

F=Ifaf@d SeaRT & & § 9¢ 3R A RE 91w wReT & 3cav &)

NI & 3G Foall TF JealdR Aol & °RT 3R &g A AN H5 =& I §, et o=l a7
fF st & & gl WRAT FeaeT MeHr F FoAA F a8 AR G T | 83 1 3ieeoas
Fodld AR TS F Feall & &IT Hae g AT 95 gl o o Eefoas Fuae iR T &
AT & Folel, ARAT Fodlel & fAFean T §1 gfAor 3nhir & FeaeT eols & FedrT
F af IR g T W I §| $ools & Foaw ARG F F Feeanw wR T §
Hiefoe FedeT ARAT Foaer F T8 IR AW T | I3 §1 afreasT #R eiels &
FodleT ehedd TSR TEr &1 TITAEdT & FodleT S90S & Fodle F a1 AN I T W 3




ffaf@a 7 & FiaT a1 FeaeT AR 3R 3T BT F FodeT & e i 7 o7 g2
A) drfehEdT B) Areler
C) &f&or 3nhrer D) 3frecforr

~

Read the following information carefully and answer the question given below.

Eight captains of different cricket teams—Australia, New Zealand, India, Pakistan, Sri Lanka,
England, West Indies and South Africa are sitting around a circular table and are facing the
centre, but not necessarily in the same order. Indian captain sits third to the left of the Sri
Lankan captain. Only two people sit between the Australian captain and West Indies captain.
Neither the Australian captain nor West Indies captain is an immediate neighbour of the Indian
captain. The captain of South Africa sits second to the right of the England captain. England
captain is not an immediate neighbour of the Indian captain. The Australian captain sits third to
the left of the Indian captain. Captains of Pakistan and New Zealand are not immediate
neighbours. Pakistan captain sits third to the left of the England captain.

Which of the following captains sits exactly between the captain of India and West Indies?

A) Pakistan B) SriLanka
C) South Africa D) Australia
Answer Key: A Your Response : A (Correct)

Question No. 3

&l IEG3 A W T F GoFALT U @ Sl W aleil ae3il & ST oRlel aTel IEcalshyor g H
T IR&T g §7?

A) IEcATHYOT Sof TR AT 8 ST g B) &carhyUT Fef Gl &1 Siiel &l

C) I[&carehyoT sef il [T g1 STl gl D) I&carehyor del 3TET &1 el gl

What happens to the force of gravitation between two objects when the mass of one object is
doubled?

sy P~ Emmevitation s doubled

A) The force of gravitatiessisferstinoac 00



Answer Key : B Your Response : B (Correct)

Question No. 4

WieT e N o W UT & 367 qeT, Wial F gRad F ua &1 Awsr e, 36T AW
& q@ # § AfFeT Wiar a F aiRaew 7 Bua T fete AT, S99 e} F qF A g Afha
st R 3 AT F aRaH 7 Bya §1 I 3 w3 v & O 7 &, ar Fla ar aww g
afRas F fRua &7

A) 3THTH B) Il

C) wWier D) s9gr

The town of Paranda is located on Green lake. The town of Akram is to the west of Paranda.
Tokhada is to the east of Akram but to the west of Paranda. Kokran is east of Bopri but west of
Tokhada and Akram. If they are all in the same district, which town is the farthest west?

A) Akram B) Kokran
C) Paranda D) Bopri
Answer Key : D Your Response : D (Correct)

Question No. 5

PleT A e A U a1 Haer r wEr lF § qub Hem?

ad @ & e ?
A) TS B) g¢

C) =#AsT D) 3%

Which word will best complete the relationship given below?

QOil : Seed :: Metal : ?

A) Paper B) Brick




Question No. 6

200 #r 3T 150 & it ar o7 weer: 40 Frel/eer 3R 45 fFa/Eer i e ¥ FAEGR TeRar
W oI T &1 IS 3 gAR R F wer @ 8, aF 9 v qEy A e §HT & 9 el

A) 132 dFs B) 72 ¥Fs
C) 252 ¥Fs D) 192 ¥%s

Two trains 200 m and 150 m long are running on parallel rails at the rates of 40 km/h and 45
km/h respectively. In how much time will they cross each other if they are running in the same

direction?
A) 132 seconds B) 72 seconds
C) 252 seconds D) 192 seconds
Answer Key : C Your Response : C (Correct)

Question No. 7

T e gfatad goa & fow, qor ol iR wfaeafd & 9 fhae =geas ga g 3iauer
JTERISHT Eiell g7

A) 0.4 ¥FE B) 0.1 %3
C) 0.2 ¥z D) 0.01 ¥&s

To hear a distinct echo, what is the minimum time interval required between the original sound
and the echo?

A) 0.4 second B) 0.1 second
C) 0.2 second D) 0.01 second
Answer Key : B Your Response : Not Answered

Question No. 8

Ud & AT aRi T ARHASAT & HROT gIar gl
A) TEHTAT qdclel B) YT & WRIdciel

| = ol s M TS W s [52 13 o P Y / 1




A) Atmospheric refraction B) Reflection of light
C) Scattering of light D) Dispersion of light

Answer Key : A Your Response : C (Wrong)

Question No. 9

fra & & Ay Afd F wdfer aRRE R s 3T 3w T e Affeee &
TFATAT foRa?

A) STHAT B) shrufr
C) 33ius D) Wi

Which country awarded Shri.Ram Nath Kovind with the highest civilian award the "Grand Order
of the King of Tomislav"?

A) Germany B) Croatia
C) England D) France
Answer Key : B Your Response : Not Answered

Question No. 10

T FEA B w6 A P, Q, R AR S I FR &WAET & Iur 2: 3: 5: 4 §1 @ 8 & v
fear s TIiRH@AE $.4200 &1 Fd ge9 Saer i @eh ik Rras afr &

A) R, %.1500 B) P, %.2000

C) 'S, %.1600 D) R, %.2000

Efficiencies of P, Q, R and S in doing a job are in the ratio 2 : 3 : 5 : 4. The wages paid for the
job are Rs.4200. Who is paid the largest amount and how much is paid?

A) R, Rs.1500 B) P, Rs.2000
C) S, Rs.1600 D) R, Rs.2000
Answer Key : A Your Response : A (Correct)




A) 1 B) 7

C) 117 D) 13

The product of two co-prime numbers is 117. Find their HCF.

A) 1 B) 7
C) 17 D) 13
Answer Key : A Your Response : C (Wrong)

Question No. 12

T qF i 3R He Y ge ¥ Ak I, e A AR AE B gU ST iR e ¥ @ a8 ek
A 1 T 3@ T fewm fr 3K Hg FY gT 2

A) fgor B) &faluT qiea#
C) &f&tor qd D) g

N

Ram is facing towards east and Ravi is facing Ram and walking towards him. Ravi takes a left
turn. Which direction is Ravi facing now?

A) South B) South west
C) South east D) East
Answer Key : A Your Response : A (Correct)

Question No. 13

fAfaf@d SR FF e & 93X T QT 91w mReT &1 3caw &

A, B, C, D EF G3IHTF god & IRl 3R S T 3K g = 35 &1 B, F & a8 3R
I TR W IR H & a5 3R S T | ST g1 C, A & 915 3K i T 9 a7 81 A,
F 3R B & fweas qsir 7@ §1 E, B #7 Reecas w0 18 81 G, D & &% 3R q@y &=
9 JoT &I




C) G D) A

Read the following information carefully and answer the question given below.
A, B, C, D, E, F, G and H are sitting around a circle facing the center. B is third to the right of F
and third to the left of H. C is fourth to the left of A. A is not an immediate neighbour of F and B.

E is not an immediate neighbour of B. G is second to the right of D.

Who is to the immediate right of H?

A) F B) E
C) G D) A
Answer Key : B Your Response : B (Correct)

Question No. 14

AT 98T & SR of S arelr 3R Arel Ser arell gar i #AFET & FAT gl SATar g7

A) FER I B) 3fafarse 3madeT

C) JIUMYR &HdT D) SaRIT 3

The amount of air inspired and expired during normal respiration is known as-

A) Minute volume B) Residual volume
C) Vital capacity D) Tidal volume
Answer Key : D Your Response : C (Wrong)

Question No. 15

feT a1T fepedt & @ 31w ® A

A) B)




0 D)

Find the ODD one out from the given options.

A) B)

C) D)

%k &
AN~

Answer Key : C Your Response : C (Correct)

Question No. 16

Ifg 10.98 x 10.98 + 10.98K + 0.02 x 0.02 v qul 9T §, & 'K' & AT AT |

A) 0.2 B) 0.04

T S W R e T 0 M = T P T Y . 1



A) 0.2 B) 0.04
C) 0.02 D) 0.4

Answer Key : B Your Response : B (Correct)

Question No. 17

&1 75 g A fohae et 272

A)

34

0) D)

30

How many triangles are there in the given figure?




34

0 D)

30

Answer Key : C Your Response : C (Correct)

Question No. 18

T 1w RsFedt F @ T A oA
A) ETN B) DRM
C) Gal D) HTI

Find the ODD one out from the given options.

A) ETN B) DRM
C) GQl D) HTI
Answer Key : D Your Response : A (Wrong)

Question No. 19

Ry a1 Rsedt # & I B T
A) 144 B) 324
C) 290 D) 100

Find the ODD one out from the given options.
A) 144 B) 324

C) 290 D) 100

Answer Key : C

W W N S s N e % 02 M T

Thy s ool mm— Y/



Ife ey 3ccaer ot it gerar BT 24 e §, O sEH Bl g AT AT
A) 24 T B) 48 #&Y
C) 14 T D) 12 T

If the radius of curvature of a convex mirror is 24 cm, what is its focal length?

A) 24 cm B) 48 cm
C) 14 cm D) 12 cm
Answer Key : D Your Response : D (Correct)

Question No. 21
ARG & FFelt To & Tsaue & fgfea & fow & e g
A) 9T ay B) e aw
C) aray D) & af

The governor of a state of India is appointed for a term of-

A) Five years B) Three years
C) Two years D) Six years
Answer Key: A Your Response : A (Correct)

Question No. 22

Sof Fr qOT I

167, 334, 668, 1336, (..)
A) 2681 B) 2661

C) 2672 D) 2653




167, 334, 668, 1336, (...)

A) 2681 B) 2661
C) 2672 D) 2653
Answer Key : C Your Response : C (Correct)

Question No. 23

gieil 3 AHU FT AT aer §9 gl
A) thererst B) efehrsl
C) IoereT D) ghlst

The common transport form of sugar in plants is-

A) Fructose B) Glucose
C) Galactose D) Sucrose
Answer Key : D Your Response : A (Wrong)

Question No. 24
ffaf@a 7 & fFrad Raf@e-A s=X AmEr 7 grr Srar 82

A) a9 B) MR

C) HeRT D) e

Which of the following is/are rich in vitamin-A?

A) Apple B) Carrot
C) Oranges D) Tomato
Answer Key : B Your Response : B (Correct)

Question No. 25




30 f3eT & T H, AT AHid F o Fed (?) & T W W
= % foT wEfcan 39ge &l

15 18 21
90 | 75 108 | 90 > | 105
A B
) ) 126
108
C) D) 36
84

Choose the altermative that best replaces the question mark(?) in the

given figure.
15 18 21
90 | /5 108 | 20 ? 105
A B
: ) 126
108
0 D)

136




Answer Key : B Your Response : B (Correct)

Question No. 26

T RPN Tele H IRI AW Th 2 #HeX TisT YT T60=—1 AT gl Sole $f 89%d 96 91 #Hiel
g1 fasior fir amera €. 50 wia 9 #Hiex B1 fAsor A For e AT w0

A) eI 379dTed B) %.2400

C) %.4000 D) %.4800

A 2 m broad pathway is to be constructed around a rectangular plot on the inside. The area of
the plot is 96 m2 The rate of construction is Rs.50 per m? Find the total cost of the
construction.

A) Data Inadequate B) Rs.2400
C) Rs.4000 D) Rs.4800
Answer Key : A Your Response : A (Correct)

Question No. 27

ofieT H&A3HT T AT 100 §1 TEel 3N qEd HE&AT H1 39T 4 : 9 § 3R qEdr 3R hadr wer
T AT 3 : 4 1 G HEAT Tar H|

The sum of three nhumbers is 100. The ratio of the first number to the second number is 4 : 9
and the ratio of the second to the third number is 3 : 4. Find the second number.

A) 36 B) 24
C) 30 D) 28
Answer Key : A Your Response : A (Correct)

Question No. 28

e THERIVT THE[T H, SIAIHT T HeqTIel 112 B T




A) B)

0 D)

Lo | =
fol =

In a right triangle, the sides are intheratio 1: 1: 2 .

Find cos Acos B-sin A sin B.

A) B)
1 0
o) D)
1
1/2 $
Answer Key : B Your Response : B (Correct)

Question No. 29

T P /0.01+4/0.0225




0.4 4

0 D)

0.04 16

Simplify: -/0.01++/0.0225

A) B)
0.4 4
O D)
0.04 16
Answer Key : A Your Response : A (Correct)

Question No. 30

& fAREd TR W 10 af & a5 WYURT ST $.600 gl §, Il FHereeT 5 a¥ a1g ofieT I &
ST 8, S0d 9§ & 3T H Fol AT AT GMT?

A) %.1200 B) %.900




is trebled after 5 years, what will be the total interest at the end of tenth year?

A) Rs.1200 B) Rs.900
C) Rs.1500 D) Rs.600
Answer Key: A Your Response : A (Correct)

Question No. 31

IFAAIT Tothe F T IFRHAT A W INTHT Faes, IRTH7 Tebe 3t 3ARTT Forss
ge1ar §1 ReRfRa J ¥ i a1 s afAe ARBHFAT F vyFw FF T 1 A s"FT FWar &7

A) 3feRoT AR B) 3raequr Jf&AfsRar
C) @ fAfshar D) ggeT 3ifAfshan

Barium chloride on reacting with ammonium sulphate forms barium sulphate and ammonium
chloride. Which of the following CORRECTLY represents the type of reaction involved?

A) Oxidation reaction B) Precipitation reaction
C) Combination reaction D) Combustion reaction
Answer Key : B Your Response : Not Answered

Question No. 32
3¥F e A Peafaf@a & & fFa g & war o= §2
A) ST g 3R Fg gy et B) @w ¥
C) T T D) I g

In which of the following lists is Economic planning placed?

A) Both State list and Union list B) Union list
C) Concurrent list D) State list
Answer Key : C Your Response : C (Correct)

Question No. 33




C) e D) &
Which of the following is a source for quinine?

A) Teak B) Cinchona
C) Neem D) Bamboo

Answer Key : B

Your Response : B (Correct)

Question No. 34

IANF ARINE ABFT hoow _ F fow 9g &

A) HsHaRrT B) R

C) diel diec D) 3= &
Michael Phelps of US is famous for-

A) Horse riding B) Swimming
C) Pole vault D) High jump

Answer Key : B

fBesic R wer ST 82

A) des Jgd dred
o] S

C) 3R HgA

Your Response : B (Correct)

Question No. 35

B) #g wig
D) rfferen aTeet

How are detergents called?
A) Soapless soaps
C) Hard soaps

Answer Key : A

B) Soft soaps
D) Carbolic soaps

Your Response : Not Answered

Question No. 36




C) Fasar D) e

~

Which of the following sports originated in India?

A) Football B) Tennis
C) Kabaddi D) Cricket
Answer Key : C Your Response : C (Correct)

Question No. 37

UF qfdd A TF gl & G el go11$ 3R 38 4 FFs & a1g wiaeafa gag & eafa & =rer
344 m/s gl W IFT § T HT g AT Afew]

A) 344 #H B) 600 #r

C) 300 #r D) 688 #r

A person clapped his hands near a cliff and heard the echo after 4 seconds. What is the
distance of the cliff from the person when the speed of the sound is 344 m/s?

A) 344 m B) 600 m
C) 300 m D) 688 m
Answer Key : D Your Response : D (Correct)

Question No. 38

el avq @ faha Hea A1d AT, A gFEER 39 3ifHhd AT 5. 80 T 5% H ar HFART
< &1 7l

A) 3. 72.20 B) % 73

C) % 72 D) % 70.10

Find the selling price of an article, if a shopkeeper allows two successive discounts of 5% each
on the marked price of Rs.80.

A) Rs.72.20 B) Rs.73

C) RS-72 | T 1o TN e N O R Z’Ij\\ Q‘#ﬂﬁo—l



Question No. 39
3Tede 336 H Fo WA & AT Fw GgeR F1 @AY gauE Redr §?

A) FTTH THST B) @ @Her

C) fewq THe™ D) TIell-gf33eT T

Which community gets special provision for certain services in Article 3367

A) Muslim community B) Sikh community
C) Hindu community D) Anglo-Indian community
Answer Key : D Your Response : D (Correct)

Question No. 40

it 1 Giotsr gsf3dl & v 3maeas &7
A) I B) Hehe
C) 5is D) Shierre

Which mineral is essential for bones?

A) lron B) Sulphate
C) Zinc D) Calcium
Answer Key : D Your Response : D (Correct)

Question No. 41

e Ao & Jod d&ar A ffaw|

1, 1, 2, (.), 24, 120, 720




A) 8 B) 6
C) 3 D) 2

Answer Key : B Your Response : B (Correct)

Question No. 42

g Fr s uia wa, ael & A fr ugifSe, wfedl, gegfeet, Reder snfe #r gar
e % AT fFE derelien T 3UAleT AT ST 87

A) €afe 31a2NYuT(Sound absorption) B) 3fa#cT edfe(Infrasound)

C) SONAR D) MR

Which technique is used to determine the depth of the sea, locate the underwater hills, valleys,
submarines, icebergs etc.?

A) Sound absorption B) Infrasound
C) SONAR D) MRI
Answer Key : C Your Response : C (Correct)

Question No. 43
I3t & 3 F WY HABHAT FT W BT W AT 3t gl 87
A) FEaT SSITFESS B) 3iferaleteT

C) g3glelel D) aATSgretel

Which gas is typically produced when metal reacts with acids?

A) Carbon dioxide B) Oxygen
C) Hydrogen D) Nitrogen
Answer Key : C Your Response : C (Correct)

Question No. 44




A) B)

b/a a'b

0 D)

a2/b? (a-bY(a+b)

cos D -sin O

a
If cot 8=—, thenfind —.
b cos 0 +sm 6

A) B)
b/a a/b
o) D)
a?/b? (a-bY(a+h)
Answer Key : D Your Response : D (Correct)

Question No. 45
T O F SO &l 3 AT & JHifher AT SRIaT §1 BT & AT AT il
A) 162 T FHIS B) 512 &l 1S
C) 216 T SIS




A) 162 cubic units B) 512 cubic units
C) 216 cubic units D) 276 cubic units

Answer Key : C Your Response : C (Correct)

Question No. 46

g9 W #H, Al HYA & 916 IR Ashy for 7w §) 39 Ay (fAsenl) @ gor S aifes w9 @
A 39T &

T

1) |t A, caifeas €1
2) F& vdlfeaa, =idr g
3) el =idy, &% €l

fors:

. F& 8N, wAfeaw
Il. $ &R, T &
ll. F& &Y, A= &l
IV. & wifesTa &R T

A) hael sy | 3R Il 39T & B) &de forsed Il 3uged B
C) shad foisay | 3R IV 39 ¢l D) el sy | 3 1| 3ugerd §

In this question, three statements are given followed by four conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) All gold are platinum.

2) Some platinum are silver.
3) All silver are diamonds.

Conclusions:
I. Some diamonds are platinum.
Il. Some diamonds are gold.

HI Oaman alhiam ama ~~1J0000 e T TS s [52 13 s S Y Y / 1




C) Only conclusions | and |V follow D) Only conclusions | and Il follow

Answer Key : C Your Response : C (Correct)

Question No. 47

P, Q 3R R, %.35000, ¥.45000 3T ¥.55000 fA3er a&F TH ARG F 9T g &1 $.40500
& aIffer o | 3eTahT Told eEar A1 hifav|

A) %.10500, %.13500, %.18500 B) %.10500, ¥.13500, %.19500

C) %.10500, %.13500, %.17500 D) %.10500, ¥.13500, %.16500

P, Q and R enter into a partnership investing Rs.35000, Rs.45000 and Rs.55000. Find their
respective share in the annual profit of Rs.40500.

A) Rs.10500, Rs.13500, Rs.18500 B) Rs.10500, Rs.13500, Rs.19500
C) Rs.10500, Rs.13500, Rs.17500 D) Rs.10500, Rs.13500, Rs.16500
Answer Key : D Your Response : D (Correct)

Question No. 48

AR sfaeT &, 5 TaHIR & 1 § AT S ar 917
A) 3R B) STeleik
C) 3eraw D) ST

In Indian history, who was also known as Alamgir?

A) Akbar B) Jahangir
C) Aurangzeb D) Babur
Answer Key : C Your Response : C (Correct)

Question No. 49

i (x - 1) 3R (x + 3), X2 + ax + b F UGS §, df FAA: a AR b F AR AT AT

A) -2, -3 B) 2, -3

| e (o0 e o e lva

o / 1



If (x - 1) and (x + 3) are the factors of x2 + ax + b, then find the values of 'a' and 'b' respectively.

A) -2,-3 B) 2,-3
C) -2,3 D) 2,3
Answer Key : B Your Response : B (Correct)

Question No. S0

gfe 53 * 13 =33, 39 » 13 = 26 3T 74 » 26 = 50 &, ar 37 » 21 T AT AT Hl
A) 29 B) 24

C) 43 D) 37

If 53 * 13 =33, 39 * 13 = 26 and 74 * 26 = 50, then what will be 37 * 21?

A) 29 B) 24
C) 43 D) 37
Answer Key : A Your Response : A (Correct)

Question No. 51

PleT T g o R a1w Hefer 3 T aF F o7 Fam?

SHAY : HSF :: SC: ?
A) Hhige B) 4st
C) foreH D) &R

Which word will best complete the relationship given below?

Asphalt : Road :: Brick : ?
A) Fabric B) Cloth

C) Prism e ey !




Question No. 52
3MYfATF Mad RO & IR F FAefaf@ad 7 § i a5 wy= F@&r 82
A) 3HH 18 FtaTEN EOW 8ld §, [See &g B) 30 18 difdsr ufeadr gidr &, foee 3mad

el ST gl el ST &l
C) sad 7 &fas dfedar gl &, [Se¢ &g D) 38H 7 FtaditR TIHHR dfeadl giar g,
el ST fSleg 31ad &gl ST gl

Which of the following statements about the modern periodic table is CORRECT?

A) It has 18 vertical columns known as B) It has 18 horizontal rows known as periods

groups
C) It has 7 horizontal rows known as groups D) It has 7 vertical columns known as periods

Answer Key : A Your Response : A (Correct)

Question No. 53

Ifg 31 RREaT 2005 Fr AfRGR 4T, dr 31 GHET 2009 & GoAG HT HisT AT el goM?
A) YehaR B) %A

C) aar D) fdar

If 31 December 2005 was a Saturday, then what day of the week will 31 December 2009 be?

A) Friday B) Thursday
C) Sunday D) Saturday
Answer Key : B Your Response : B (Correct)

Question No. 54

A | e T TS s [52 13 s S T Y / 1



1/12

13/49
0 D)
3/13 48113
: o 1
Simplify: 3+ T
1+
!
4
A) B)
13/49 1/12
0 D)
3/13 48/13

Answer Key : D Your Response : D (Correct)

Question No. 55

0125 &I 9HT TEIT & §T H =05 HIierT|




125/999 119/993

0 D)

100/999 113/990

Express 0125 inrationalform of number.

A) B)
125/999 119/993
O D)
100/999 113/980
Answer Key : A Your Response : A (Correct)

Question No. 56

ar FAPIT @A Uil # A.F.9 (HCF) Frd &
A) 1 B) 2

C) -1 D) O

P —— D B Sl e —— G S Rk ]




A) 1 B) 2
C) -1 D) 0

Answer Key : B Your Response : B (Correct)

Question No. 57

S dihelcd A 1 H 2 & 019 W TG 1 H 4 & 19 W 997 1T & ar giaed g g
fIfw?

A) 75% B) 50%

C) 100% D) 25%

What is the loss percent incurred when chocolates got at 2 for a rupee are sold at 4 for a

rupee?
A) 75% B) 50%
C) 100% D) 25%
Answer Key : B Your Response : B (Correct)

Question No. 58

2019 # A=faf@d # 9 FY w1 ot & geafaa B =

A) urfeed FA@si B) SSar drel
C) IitaH TR D) ST dFerdy

Who among the following was awarded with the Padma Shri in 20197

A) Budhaditya Mukherjee B) Bachendri Pal
C) Gautam Gambhir D) John Chambers
Answer Key : C Your Response : C (Correct)

Question No. 59

SoTH W PieT AT T SHaRA 4T g2

i e —— E S W R Y . ]



Which of these is a fossil fuel?

A) Alcohol B) Coal
C) Biogas D) Wood
Answer Key : B Your Response : B (Correct)

Question No. 60

Rt ¥ T W T g &N &2
A) Ca(OH), B) KOH
C) NH4OH D) NaOH

Which of the following is a weak base?

A) Ca(OH)> B) KOH
C) NH4OH D) NaOH
Answer Key : C Your Response : C (Correct)

Question No. 61
fFfaf@a & § e Teg BigeR TT AT # g 7
A) 3TTSHHIA B) @he 83
C) Hasar D) &«

Which of the following is rich in dietary fibre?

A) lce-cream B) White bread
C) Noodles D) Apples
Answer Key : D Your Response : C (Wrong)

Question No. 62

Sofr Fr qoT |




2, 3, 6, 15, 42, (..)

A) 94 B) 123
C) 48 D) 62
Complete the series.

2,3,86, 15,42, (...)

A) 94 B) 123
C) 48 D) 62
Answer Key : B Your Response : B (Correct)

Question No. 63

foeareT fFa s i gwgfar delr 87
A) FUF B) FeTgeT
C) #RATCTH D) 3fsdr

Thillana is one of the presentation styles of which dance form?

A) Kathak B) Kuchipudi
C) Bharatanatyam D) Odissi
Answer Key : C Your Response : Not Answered

Question No. 64

T FE: 106 x 106 + 94 x 94
A) 20032 B) 20072

C) 23032 D) 21032

Simplify: 106 x 106 + 94 x 94
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Answer Key : B Your Response : B (Correct)

Question No. 65

Ife frdl AR fesmr &, RAT = 40, CHAT = 33 §, dr RETURN = ?

If in a certain code, RAT = 40, CHAT = 33, then RETURN = ?

A) 88 B) 99
C) 84 D) 97
Answer Key : D Your Response : D (Correct)

Question No. 66

& AREd gl F 0T T F AT 719 G@RT 9RT & AT fovr 7 v aw g7y 3R amr
feRm # T 7T T 7 I 4 : 1§l ORT A R # IR ORT & Aol G 7 A fr oarer
T eI AT RS

A) 4 :1 B) 3:5

C) 1:4 D) 5: 3

The ratio of the time taken to row a certain distance upstream to the time taken to go
downstream is 4 : 1. What is the ratio of the speed along stream to that upstream?

A) 4:1 B) 3:5
C) 1:4 D) 5:3
Answer Key: A Your Response : A (Correct)

Question No. 67

=@ § 9 Sl a1 v wellgr gier g7

A) 31T B) s
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A) Potato B) Cabbage
C) Tomato D) Pea

Answer Key : D Your Response : C (Wrong)

Question No. 68

39 AT A T0T B, A Hedaerad SO F d FomeEd &
Hafedd &oT & TAwId &Lar gl

g, AT, AT, FAFHI

A) B)

C) D)

Choose the figure that best represents the relationship among the
classes given below.
Wheat, Grains, Onion, Maize

A) B)

0 D)
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Answer Key : A Your Response : A (Correct)

Question No. 69
TETe, Al & & fFg TS it TorrE 87

A) AT gger B) gRemom
C) Yo 3R gRIOT =t D) Yalre

Chandigarh is the capital of which of the following states?

A) Himachal Pradesh B) Haryana
C) Both Punjab and Haryana D) Punjab
Answer Key : C Your Response : C (Correct)

Question No. 70

I+ FAGAT ' &, " I AGIT X &, X FT Adeg - R~ FAdaa '+ & A (5-8 x 6
+11) +9 =2

A) 15 B) 12
C) 20 D) 5
If '+' means '+, - means 'X', X' means - and '+' means '+', then (6-8x6+11)+9="?
A) 15 B) 12
C) 20 D) 5
Answer Key : D Your Response : D (Correct)

Question No. 71

ar TEAT3T HT AT 22 Bl T HEAT FHM G T GE THEAT & 6 A & K ¢ I alelt H &
T3 HEAT T




A) 10 B) 16
C) 15 D) 12

Answer Key : D Your Response : D (Correct)

Question No. 72
fArfaf@a & & FiaT F dca Fr "Si" Yl gaRT RATAT AT 872
A) aifsgs B) HeWw

C) =mér D) Taferepier

Which of the following elements is represented by the symbol "Si"?

A) Sodium B) Sulphur
C) Silver D) Silicon
Answer Key : D Your Response : D (Correct)

Question No. 73

o R WEAT & 8 A H 4 SIS ST §, o Wied IRONA 3 e A Fe@ o FEAr gl g
a¢ HEAT F4T g7

A) 8 B) 10

C) 15 D) 12

When 8 times of a number is increased by 4, the result is the smallest 3 digit number. What is

the number?
A) 8 B) 10
C) 15 D) 12
Answer Key : D Your Response : D (Correct)

Question No. 74

A IR W Tehafg Fh 0T FhT S W, .18500 FHr TR W 40% aIf¥H T W 18 #AG
_ == B — ST — T Tl oo W Sey Y / 1




C) %.16000 D) %.16280

If the interest is compounded half-yearly, find the Compound Interest on the sum of Rs.18500 at
the rate of 40% per annum for 18 months.

A) Rs.15469 B) Rs.13468
C) Rs.16000 D) Rs.16280
Answer Key : B Your Response : B (Correct)

Question No. 75

gia O fraet sififtewer o a8 @ar &2
A) FSHITHIT B) uRE=a
C) Tee D) TR

Which of these does NOT have an optical lens?

A) Microscope B) Periscope
C) Telescope D) Stethoscope
Answer Key : D Your Response : D (Correct)

Question No. 76

Ead H, dear Fr & A H gafeyd o siar gl
A) SRS H AT 3TaLl B) sffier H T&R 3maent
C) afde H Tcd gu 3masm D) sf#e & ggd §U 3Masl

In a period, elements are arranged in the order of-
A) Equal charges in the nucleus B) Constant charges in the nucleus
C) Decreasing charges in the nucleus D) Increasing charges in the nucleus

Answer Key : D Your Response : D (Correct)




A) JFHAT B) Jmem

C) arcdr D) &TeHAT

On which of the following river banks is the city of Agra located?

A) Yamuna B) Ganga
C) Tapti D) Sabarmati
Answer Key : A Your Response : A (Correct)

Question No. 78

ST W ST W A T SIS (&) Ol oTgT 87

A) A B) TFa¥l
C) & D) feferasw

Which of these sports is NOT a board (table) game?

A) Chess B) Squash
C) Carrom D) Billiards
Answer Key : B Your Response : B (Correct)

Question No. 79

Sroft = qoT Y

CJ, PU, ND, LG, (..)
A) KS B) WV

C) RE D) JE

Complete the series.




C) RE D) JE

Answer Key : D Your Response : Not Answered

Question No. 80
Refde C & wEls Aid s & Fia @1 ¥?
A) 3HAFG B) I«

C) dreleh D) s & @l

Natural source of vitamin C is-

A) Guava B) Apple
C) Spinach D) All of the options
Answer Key : D Your Response : Not Answered

Question No. 81

T FEG T [ATead Hed 9 99T ST 8 3R 6 §H AT & 607 W
=T ST, a7 35% T grier 2Tl ITaere #imsT 7T g7

A) B)
122 % sl
2 3
0 D)
2
162% 15%
J

An article is sold a




A) B)

1.,
12=% 8 1%
2 3
C) D)
1629 15%
3
Answer Key : B Your Response : B (Correct)

Question No. 82

T 110 HeT el eI R @H # 12 AFs H YR X odr &1 o7 A fhelifge & O o g
ffST|

A) 33 fravEer B) 27 freeer

C) 30 fati/ger D) 49 feli/ger

A 110 m long train crosses a pole in 12 seconds. What is the speed of the train in km/h?

A) 33 km/h B) 27 km/h
C) 30 km/h D) 49 km/h
Answer Key : A Your Response : A (Correct)

Question No. 83

STel §IROT &THCT 7 e 378w & g
A) drelr fAET (Sandy soil) B) Il &gl (Clayey soil)

C) sIer AT (Silty soil) D) ae$ fAET (Loamy soil)

Water holding capacity is the highest in-
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Answer Key : B Your Response : B (Correct)

Question No. 84

ts fAfREe gesmwr &, 'MEDICAL' & 'MEIDCAL' far@r Sirer §1 38t fesier & 'POLICE' T &
forar sreem?

A) PCELIO B) POILCE

C) POCEIL D) ILCEPO

In a certain code, 'MEDICAL' is written as 'MEIDCAL'. How would 'POLICE' be written in that
code?

A) PCELIO B) POILCE
C) POCEIL D) ILCEPO
Answer Key : B Your Response : B (Correct)

Question No. 85

39 3 fHelsT &I ol YOI &rathel fovctamr glam, TSk s, 154 et #iex &a%e are gt T
e #r amelr ¥ 3R Fnd suhr Bswn F /R §7

A) 123 #Hee B) 312 #ew
C) 132 #Hrex? D) 231 #He?

What is the total surface area of a solid cylinder whose radius is half the radius of a circle of

area 154 m? and height is the same as its radius?

A) 123 m? B) 312 m?
C) 132m? D) 231 m?
Answer Key : D Your Response : B (Wrong)

Question No. 86

U oot A FY, Uh 99 FIST A IR 33 @M AT AR 9 IR 73 9 W 9g 9% 3}
SISt 319 R femm & sz ae

Y / 1



One day in the evening, an eagle was flying towards sun and turned left. Again it took left turn.
Which direction was the eagle flying now?

A) East B) South
C) South east D) South west
Answer Key : A Your Response : A (Correct)

Question No. 87

fAFfaf@a Joft # TTora IER-THg AT Tl

MA, WO, OE, SI, YM
A) OE B) YM

C) WO D) S

Find the group of wrong alphabets in the following series.

MA, WO, OE, SI, YM

A) OE B) YM
C) WO D) SI
Answer Key : C Your Response : Not Answered

Question No. 88

gISgleld & AT, SEERIAH g &l
A) T Fggi 3R & el B) U# geiciel 3R al #ggie
C) YT 7YgleT 3R U HicieT D) U Wil 3R Th =ggie

The isotope deuterium of hydrogen has-

A) One neutron and two protons B) One electron and two neutrons
» o SV P _;'-,7/ 1




Question No. 89

3HaReT # Se arel 9gel AR it A?
A) TheT AAT B) HeusT ATdel
C) Ifaer Hegrar D) geltar faferew

Who was the first Indian to go into the space?

A) Rakesh Sharma B) Kalpana Chawla
C) Ravish Malhotra D) Sunita Williams
Answer Key: A Your Response : A (Correct)

Question No. 90

&Y 35 ATHia 7 fhae Fer 27

A B
)11 )10

0) D)

14 12




How many squares are there in the given figure?

A) B)

11 10
0) D)
14 12
Answer Key : C Your Response : C (Correct)

Question No. 91

AIROT sAqTeT G &F 9§ T 9= 3 auf & 815 3R 4 anf F 854 & ah &, IR =g
ffoe?

A) % 698 B) % 690

C) % 650 D) % 700

A sum of money at Simple Interest amounts to Rs.815 in 3 years and Rs.854 in 4 years. What
is the sum?

A) Rs.698 B) Rs.690
C) Rs.650 D) Rs.700
Answer Key : A Your Response : Not Answered

Question No. 92

P —— D B Sl e —— G S R kv = orrrr = = T S



C) facgarish D) dTelsh

~9

Which of the following has comparatively high electrical resistance and is used in the circuit to
reduce current?

A) Resistor B) Semi conductor
C) Insulator D) Conductor
Answer Key : A Your Response : A (Correct)

Question No. 93
R, g 3R JsorT & eRRT 7 ¢35 i Fow I §?
A) °YUT I FE 3R FSh W 9§k U3 Vel B) TRRT & 28 g8 SSise &l HeIol &l F6m
A & fow & foo

C) °YUT &l A HA & AT D) amgel & 91fd dg & felw

Why are the tyres of the cars, trucks and bulldozers treaded?

A) To increase friction and to give a better B) The treads of the tyres are meant to add

grip to them on the road beauty to its design
C) To decrease the friction D) To increase the speed of the vehicle
Answer Key : A Your Response : A (Correct)

Question No. 94

T AL cos 5° + cos 24° + cos 175° + cos 204° + cos 300°

A) -1/2 B) 0
C) 1 D) 1/2
Simplify:

cos 5° + cos 24° + cos 175° + cos 204° + cos 300°

A) -1/2 B) 0
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Question No. 95

el & Ulell T THReS A1 F47 82
A) aifsad gesieass B) 3AIHIH gS3FUSsS
C) HIAATH grESIFASS D) &forrIH gssiaass

What is the chemical name of limewater?

A) Sodium hydroxide B) Ammonium hydroxide
C) Magnesium hydroxide D) Calcium hydroxide
Answer Key : D Your Response : A (Wrong)

Question No. 96

dar 3opEit fr afasr s & FTRARII gl &
A) TgAVSHI ETd B) ar«
C) d 3R g« g D) a9

Kinetic energy of gas molecules is directly proportional to-

A) Atmospheric pressure B) Pressure
C) Both temperature and pressure D) Temperature
Answer Key : D Your Response : C (Wrong)

Question No. 97

SRl (Bacill) ¥ Sharoy &, S i &l
A) FIAT & AR B) oA
C) Hsfeld 3MHR D) MR

Bacilli are bacteria which are-

A) Comma-shaped B) Rod-shaped
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Question No. 98
3NET H A I-T Tgell 3UAE Pl AT AT?

A) T 1 B) deems 1A
C) TFEERR 1 D) fgofr

Which was the first satellite to be sent into space?

A) Sputnik 1 B) Vanguard 1A
C) Explorer 1 D) Rohini
Answer Key : A Your Response : Not Answered

Question No. 99

HisT A1 e e AT 70 Heer 3 T ald & qor Fem?

8(246)3
3(213)7
3(2?7?)5
A) 156 B) 615
C) 165 D) 516

Which of the following options will best complete the relationship given below?

8(246)3
3(213)7
3(2?7)5

A) 156 B) 615




Question No. 100

T Al GEIRT SATelar AR 8l

A) TSH B) TSWISS
C) diferr D) Hafar

is a sexually transmitted killer disease.

A) AIDS B) Typhoid
C) Jaundice D) Malaria
Answer Key : A Your Response : Not Answered
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